Negatieve exponenten van 10

—3x10=
9x 1003 =
705, 8+ 100 =
5x10=

473,6 x 10D =
1x10" =
821,5+ 1072 =
1002 =

628,9+ 10" =

Datum: Score:

1002 =
8x 1077 =
1% 100D =
1004 =

2x 1007 =
1003 =

465,8 + 1002 =
585+ 100% =
1003 =

840,7 x 107 =
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Negatieve exponenten van 10

Naam:
1072 = 0.001
—3x 10 =30

9 x 107 = 0.009

705, 8 + 107 = 7058000

5% 10 = 50

473,6 x 107 = 47.36
1x10° =1

821,5+ 1072 = 82150
1072 = 0.01

628,9 = 100 = 628900

Datum:

1072 = 0.01

8 x 107 = 0.008

~1x 10" =-0.1
107 = 0.0001

2% 10072 = 0.02

107% = 0.001

465, 8 + 107 = 46580
585 + 10C% = 5850000
107 = 0.001

840,7 x 10°% = 0.8407
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